
INDEX OF SHEETS

SHEET DESCRIPTION

PROJECT INFORMATION

CO-LOCATION ON AN

EXISTING MONOPOLE

TOWER

AT&T SITE NUMBER :

PROJECT DESCRIPTION:

TOWER TYPE:

SITE ADDRESS:

195' MONOPOLE

368-323

JURISDICTION:

AREA OF CONSTRUCTION:

PRESENT OCC. TYPE:

CURRENT ZONING:

PIN #: 0610-28-6363.000

RA-30

TELECOMMUNICATIONS

FACILITY

HARNETT COUNTY

T1 TITLE SHEET

C1 PROPOSED COMPOUND DETAIL

C2

C3

TOWER ELEVATION

UTILITIES:

POWER COMPANY:

CONTACT:

PHONE:

METER # NEAR SITE:

TELEPHONE COMPANY:

CONTACT:

PHONE:

PHONE # NEAR SITE:

PEDESTAL # NEAR SITE:

CENTURYLINK

CUSTOMER SERVICE

(800) 244-1111

(910) 984-1094

UNKNOWN

179 DEAN RD

LILLINGTON, NC 27546

(HARNETT COUNTY)

SOUTH RIVER ELECTRIC

MEMBERSHIP CORP

CUSTOMER SERVICE

(910) 892-8071

98 172 745

N 35° 25' 16.86" (35.4213611)LATITUDE:

AT&T MOBILITY

2002 PISGAH CHURCH RD, STE 300

GREENSBORO, NC 27455

KEN WELKER

(336) 549-9987

(800) 638-2822

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD

RALEIGH, NC  27603

SCOTT C. BRANTLEY, P.E.

(919) 661-6351

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD

RALEIGH, NC  27603

MARK S. QUAKENBUSH, P.E.

(919) 661-6351

W 78° 57' 24.63" (-78.9568333)LONGITUDE:

CODE COMPLIANCE

ALL WORK AND MATERIALS SHALL BE PERFORMED AND INSTALLED IN

ACCORDANCE WITH THE CURRENT EDITIONS OF THE FOLLOWING CODES

AS ADOPTED BY THE LOCAL GOVERNING AUTHORITIES. NOTHING IN THESE

PLANS IS TO BE CONSTRUED TO PERMIT WORK NOT CONFORMING TO THE

LATEST EDITIONS OF THE FOLLOWING:

4. 2017 NCEC

(2017 NEC & NC ADDENDUM)

5. LOCAL BUILDING CODE

6. CITY/COUNTY ORDINANCES

1.  NORTH CAROLINA BUILDING CODE

     (2018 EDITION)

2.  NORTH CAROLINA CODE COUNCIL

3.  ANSI/TIA-222-H

FOUNDATION DETAILS

300 ± SQ. FT. (LEASE AREA) 

LOCATION MAP

N

CONTACT INFORMATION

TOWER COORDINATES

TOWER OWNER:

APPLICANT/LESSEE:

CIVIL ENGINEER:

ELECTRICAL ENGINEER:

NAME:

ADDRESS:

CITY, STATE, ZIP:

CONTACT:

PHONE:

NAME:

ADDRESS:

CITY, STATE, ZIP:

CONTACT:

PHONE:

NAME:

ADDRESS:

CITY, STATE, ZIP:

CONTACT:

PHONE:

NOC #:

NAME:

ADDRESS:

CITY, STATE, ZIP:

CONTACT:

PHONE:

SITE ID:

SITE NAME:

T-1

5

MJC BSE

REV

0 11-04-20 PRELIMINARY

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

E2A ONE-LINE DIAGRAM

E3 SERVICE ROUTING PLAN

E4 GROUNDING PLAN

E5

E6

GROUNDING DETAILS I

GROUNDING DETAILS II

E1 ELECTRICAL NOTES

C5

C6

179 DEAN RD

LILLINGTON, NC 27546

(HARNETT COUNTY)

AT&T SITE #: 368-323

FA LOCATION CODE: 12855920

SITE PROJECT MANAGER:

NAME:

ADDRESS:

CITY, STATE, ZIP:

CONTACT:

PHONE:

ICE BRIDGE DETAILS I

62631.454479

C8

GENERATOR SPECIFICATIONS II

WIC DETAILS

C4-C4A

WOMACK DEBRA D

177 DEAN RD

LILLINGTON, NC, 27546

WOMACK DEBRA D

(910) 893-4837

PROPERTY OWNER:

NAME:

ADDRESS:

CITY, STATE, ZIP:

CONTACT:

PHONE:

GENERATOR FOUNDATION & SIGNAGE DETAILS

GROUND ELEVATION: ±366.1' (AMSL)

C7A

ICE BRIDGE DETAILS II

GENERATOR SPECIFICATIONS I

C7B

APPENDIX

PROPOSED STANDOFF MOUNT SPECIFICATIONS

E2B PANEL SCHEDULE

February 25, 2021

C9 ANTENNA MOUNTING DETAILS

C10 SIGNAGE DETAILS

N1 GENERAL NOTES 5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

HIGH PERFORMANCE SERVICES, LLC

3001 MILLS ST

LAFAYETTE, LA 70507

ALLYSON POE

(919) 961-1747

SP1 SITE PLAN

T2-T6 APPENDIX B

AMERICAN TOWER CORPORATION

10 PRESIDENTIAL WAY

WOBURN, MA 01801

MARK LANDERS

(336) 287-9779

414969

MAMERS NC

5

5

5

February 25, 2021

PROPOSED MOUNT SPECIFICATIONS

1 11-11-20 PRELIMINARY

2 11-17-20 PRELIMINARY

3 11-19-20 PRELIMINARY

4 01-20-21 PRELIMINARY

PROPOSED MOUNT MODIFICATIONS

5 02-25-21 CONSTRUCTION

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Brad Sutton
Stamp



62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

T-2

APPENDIX B

AT&T 368-323  FA# 12855920

179 DEAN RD, LILLINGTON, NC

KEN WELKER (AT&T)

27546

336 549 9987

Tower Engineering Professionals
Tower Engineering Professionals Mark S. Quakenbush

Scott C. Brantley 048226
042109

919    661-6351
919    661-6351

sbrantley@tepgroup.net
mquakenbush@tepgroup.net

Tower Engineering Professionals

HARNETT

64 SQ FT CONCRETE PAD

64 SQ FT CONCRETE PAD

N/A

N/A

N/A
N/A

N/A

N/A

N/A

N/A

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




T-3

APPENDIX B

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




T-4

APPENDIX B

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




T-5

APPENDIX B

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




T-6

APPENDIX B

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

N

/

A

N

O

T

 

A

 

B

U

I

L

D

I

N

G

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

N-1

GENERAL

NOTES

GENERAL NOTES

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




D

E

A

N

 

R

D

NOTES:

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

SP-1

SITE PLAN

SITE PLAN

LEGEND

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-1

PROPOSED COMPOUND DETAIL

PROPOSED

COMPOUND DETAIL

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

C-2

TOWER ELEVATION

TOWER

ELEVATION

NOTES:

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-3

WIC

DETAILS

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

VERTIV XTE-802 WIC DETAILS

NOTE:

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-4

FOUNDATION PLAN DETAIL

FOUNDATION

DETAILS

FOUNDATION NOTES:

SHELTER FOUNDATION SECTION CUT DETAIL

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-4A

FOUNDATION

DETAILS

NOTES:

WIC CONCRETE MOUNT FOUNDATION KIT DETAILS

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

C-5

ICE BRIDGE DETAILS - SIDE VIEW

ICE BRIDGE

DETAILS I

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

C-6

ICE BRIDGE DETAILS - FRONT VIEW

ICE BRIDGE

DETAILS II

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-7A

GENERATOR SPECIFICATIONS

GENERATOR

SPECIFICATIONS I

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-7B

GENERATOR SPECIFICATIONS

GENERATOR

SPECIFICATIONS II

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




C-8

GENERATOR

FOUNDATION &

SIGNAGE DETAILS

GENERATOR FOUNDATION

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

PROPOSED GENERATOR SIGNAGE

NOTE: 

SECTION

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




PROPOSED ANTENNA/CABLE SCHEDULE

ANT.

MARK

SECTOR STATUS

MANUFACTURER/

MODEL #

AZIMUTH

(TN)

RAD

CENTER

ELEC.

D-TILT

COAX/

CABLE

SURGE

PROTECTION

RRU

MODEL

TECH.

CABLE

LENGTH

GENERAL NOTES:

DIMS

(HxWxD)

NOTES:

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

C-9

ANTENNA

MOUNTING DETAILS

PROPOSED ANTENNA/CABLE SCHEDULE

PROPOSED MOUNT DETAIL PROPOSED ANTENNA ORIENTATION

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




NOTES:

PERMISSION

OWNER'S WRITTEN

TOWER WITHOUT

DO NOT CLIMB

000

t&ta

C-10

TYPICAL SIGNS AND SPECIFICATIONS

SIGNAGE

DETAILS

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley


Scott Brantley




CODES:

TESTING:

GUARANTEE:

UTILITY CO-ORDINATION:

EXAMINATION OF SITE:

CUTTING, PATCHING AND EXCAVATION:

SCOPE:

CONDUCTORS:

GROUNDING:

UL COMPLIANCE:

EXTERIOR CONDUIT:

EQUIPMENT:

RACEWAYS / CONDUITS GENERAL:

ABBREVIATIONS AND LEGEND

INTERIOR CONDUIT:

E-1

ELECTRICAL

NOTES

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21



62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

E-2A

ONE-LINE

DIAGRAM

GENERAL NOTES: ONE-LINE DIAGRAM NOTES:

ONE-LINE DIAGRAM



PANEL SCHEDULE

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

E-2B

PANEL

SCHEDULE

PROPOSED 200A, 120/240 VAC AT&T POWER PANEL SCHEDULE

NOTE:



E-3

SERVICE ROUTING PLAN

SERVICE

ROUTING PLAN

PLAN NOTES:

TRENCHING NOTES:

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21



TOWER GROUNDING PLAN

GROUNDING NOTES

DRAWING NOTES:

GROUNDING PLAN

E-4 62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21



TOP VIEW

SIDE VIEW

NOTE:

NOTE:

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

E-5

STANDARD GROUND BAR DETAIL

GROUNDING

DETAILS I

COPPER-CLAD STEEL GROUND ROD DETAIL

GROUND ROD WITH INSPECTION WELL DETAILCADWELD GROUNDING DETAIL



NOTE:

END VIEW

NOTES:

62631.454479

5

TOWER ENGINEERING PROFESSIONALS

326 TRYON ROAD
RALEIGH, NC  27603-3530

OFFICE: (919) 661-6351
www.tepgroup.net

N.C. LICENSE # P-1403

AT&T SITE #: 368-323

BSE CSN

February 25, 2021

CONSTRUCTION

PRELIMINARY4 01-20-21

5 02-25-21

E-6

LUG DETAIL

GROUNDING

DETAILS II

LOWER GROUND BAR UPPER / INTERMEDIATE GROUND BAR

GROUND BAR IN TELCO CABINET



AT&T
SMW 368-323

Proposed Design
Jan 18, 2021 at 4:20 PM
368-323_Full.r3d

Y

XZ

PROPOSED 84" LONG (F.V.) x 2.0" 
STD (2.38" O.D.)  PIPES 
CONNECTING THE STANDOFF 
VERTICALS AND INSTALLED AT 
THE MIDPOINT BETWEEN 
STANDOFF ARMS USING 
COMMSCOPE CROSSOVER 
PLATES P/N: XP-2040  
(CONMAT: N/A) 
(3 TOTAL, 1 PER SECTOR)



REVISIONS
REV. DATE DESCRIPTION INITIALS

S-1

158 BUSINESS CENTER DRIVE
BIRMINGHAM, AL 35244

TEL: 205-252-6985  FAX: 205-320-1504

368-323
CONNECTION 

DETAILS

0 08/17/20 CONSTRUCTION KJT
DETAIL A

DETAIL A

MOUNT ATTACHMENT KITS:
COMMSCOPE G2CTHK

CONMAT#: N/A
& COMMSCOPE SM-U2080HDT

CONMAT#: N/A
(TOTAL 6 EACH, 2 PER SECTOR)

PERFECT VISION P/N:
PV-PM-XT-24
CONMAT#: N/A
(TOTAL 3, 1 PER SECTOR)

PERFECT VISION
P/N:PV-SMU2080-HD-01

CONMAT#: N/A
(TOTAL 6, 2 PER SECTOR)

NOT FOR CONSTRUCTIONS UNLESS
LABELED AS CONSTRUCTION SET

1 09/22/20 BRACKET KITS
 ADDED KJT

PERFECT VISION

PERFECT VISION

COMMSCOPE

SM-U2080HDT

MANUFACTURER PART # QTY

 PV-PM-XT-24

PV-SMU2080-HD-01

 G2CTHK

COMMSCOPE

3

6

6

6

STANDOFF CONNECTION MATERIAL LIST  (3 SECTORS)

COMMSCOPE
MCG2C COLLAR
(TOTAL 2, INCLUDED
IN MOUNT KIT)

84" LONG, P2.0 STD (2.375" O.D.) PIPE 
(TOTAL 3, 1 PER SECTOR)

72" LONG, P4.0 X-STR (4.5" O.D.)PIPE 
(TOTAL 3, 1 PER SECTOR)

1/2" DIA., 4 1/2" WIDE U-BOLTS
(TOTAL 12, 4 PER SECTOR)

COMMSCOPE XP-2040
CROSSOVER PLATE
CONMAT#: N/A
(TOTAL 6, 2 PER SECTOR)

COMMSCOPE XP-2040 6

1/2" DIA.,4 1/2" WIDE U-BOLTS 12

 84" LONG, P2.0 STD (2.375" O.D.) PIPE 3

72" LONG, P4.0 X-STR (4.5" O.D.) PIPE 3

COMMSCOPE
P/N: MCG2C-12-B3

CONMAT#: ANT.15898
(TOTAL 1, KIT INCLUDES 3

MOUNTS)

DRAWING SCALE: NTSCOMMSCOPE MCG2C-12-B3 KIT 1

2 09/28/20 CONSTRUCTION KJT



XP-2040

©2020 CommScope, Inc. All rights reserved. All trademarks identified by ® or ™ are registered trademarks,
respectively, of CommScope. All specifications are subject to change without notice. See www.commscope.com for the
most current information. Revised: August 29, 2020

Page  of 1 2

Crossover Plate, joins 2-3/8 in to 4-1/2 in OD round members

Product Classification
Product Type Clamp plate

General Specifications
Mounting Crossover plate

Tower Taper Non-tapered

Dimensions
Height 127 mm   |   5 in

Width 254 mm   |   10 in

Length 304.8 mm   |   12 in

Mounting Diameter, maximum 88.9 mm   |   3.5 in

Mounting Diameter, minimum 60.96 mm   |   2.4 in

Material Specifications
Material Type Hot dip galvanized steel

Packaging and Weights
Included Plates    |   U-bolts

Packaging quantity 1

Weight, net 5 kg   |   11.023 lb

Regulatory Compliance/Certifications
Agency Classification

ISO 9001:2015 Designed, manufactured and/or distributed under this quality management system



PIPE MOUNT STANDOFF WITH LEG ATTACHMENT BRACKETS

PV-SMU2080
OR

PV-SMU2016
SOLD SEPARATELY

PV-PM-XT-##
PIPE MOUNT STANDOFF
WEIGHT: SEE TABLE 1

 STANDOFF DISTANCE 

 5'-3"  3'-1 5/8" 

PLAN VIEW

PV-PM-XT

 
 

PIPE MOUNT 
STANDOFF

The information contained in this set of 
documents is proprietary by nature. any 
use or disclosure other than that which 

relates to the client named is strictly 
prohibited.

ENGINEERING DETAIL

0E-1

STAMP:

REVISIONS:

SITE INFORMATION:

DESIGN TYPE:

REVISION:

SHEET TITLE:

SHEET TITLE:

S
S

 
A

M
 

D
JN

 

A
P

D
C

H
K

B
Y

IN
IT

IA
L 

R
E

LE
A

S
E

 
10

/2
/1

5 

D
A

TE
D

E
S

C
R

IP
TI

O
N

16101 La Grande Dr.
Little Rock, AR 72223

(630)-201-4012

 
 

 

012345

 
 

N
O

.



 11 1/2" 

 11 1/2" 

 1 1/2" 

A

B

C

PV-PM-XT-##

5/16"

5/16"
TYP
WRAP ENDS

5/16"
TYP

 2"  2" 

 4 9/16" 

 11/16" TYP 

 0" 
 1" 

 0
" 

 4
 1

/2
" 

 8
 1

/2
" 

 1
'-1

" 

 4° TYP  1'-11 15/16" 

 1
 1

/2
" 

 1
1 

1/
2"

 

D
O

W
N

  90° D
O

W
N

  9
0°

 

PART A
PV-PM-XT-24 ONLY

 2"  2" 

 4 9/16" 

 11/16" TYP 

 0" 
 1" 

 0
" 

 4
 1

/2
" 

 8
 1

/2
" 

 1
'-1

" 

 2° TYP 

 2'-11 15/16" 

 1
 1

/2
" 

 1
1 

1/
2"

 

D
O

W
N

  90° D
O

W
N

  9
0°

 

PART A
PV-PM-XT-36 ONLY

 1" 

 25° TYP (PV-PM-XT-24) 

 3'-5 1/2" (PV-PM-XT-24) 

 3'-11 7/16" (PV-PM-XT-36) 

 37° TYP (PV-PM-XT-36) 

PART B

 5'-3" 

 4 1/2" 

 0.237" PART C

PV-PM-XT

SCALE: 1:12

 
 

PIPE MOUNT 
STANDOFF

The information contained in this set of 
documents is proprietary by nature. any 
use or disclosure other than that which 

relates to the client named is strictly 
prohibited.

ENGINEERING DETAIL

0E-2

STAMP:

REVISIONS:

SITE INFORMATION:

DESIGN TYPE:

REVISION:

SHEET TITLE:

SHEET TITLE:

S
S

 
A

M
 

D
JN

 

A
P

D
C

H
K

B
Y

IN
IT

IA
L 

R
E

LE
A

S
E

 
10

/2
/1

5 

D
A

TE
D

E
S

C
R

IP
TI

O
N

16101 La Grande Dr.
Little Rock, AR 72223

(630)-201-4012

 
 

 

012345

 
 

N
O

.



1.0  ALL METRIC DIMENSIONS ARE IN BRACKETS.
2.0  FITS MONOPOLES 12"-50" OD.

REVISIONS

REV. ECN DESCRIPTION BY DATE

A 8000015465 INITIAL RELEASE DRR 08/03/16

B 8000015912 ADDED MCG2C BASE KITS DRR 08/31/16

C 8000016253 ADDED DIAGONAL BRACES DRR 01/17/17

D 8000024655 ADJUSTED WEIGHT OF MCG23PK AND ALL TOTALS DRR 07/12/17

E 8000026272 UPDATE SERIES TABLE RJC 09/26/17

F 8000026805 UPDATED TABLE WITH NEW PIPE BUNDLES RJC 10/24/17

PART NO. DESCRIPTION FRAME KIT HARDWARE KIT PIPE BUNDLE TOTAL WEIGHT
MCG2C-10M-B SINGLE SECTOR FRAME MONOPOLE KIT, 10' 8" FACE, NO ANTENNA HARDWARE SFG2CPK MCG2CHKB SFG2CPB 1005.6 LBS

MCG2C-10M-B3 TRIPLE SECTOR FRAME MONOPOLE KIT, 10' 8" FACE, NO ANTENNA HARDWARE SFG2CPK3 MCG2CHKB3 SFG2CPB3 1982.5 LBS
MCG2C-10M-12-96 TRIPLE SECTOR FRAME MONOPOLE KIT, 10' 8" FACE, (12) 96" ANTENNA PIPES SFG2CPK3 MCG2CHK3 MCG23HD10M1296SB 2415.4 LBS
MCG2C-10M-12-126 TRIPLE SECTOR FRAME MONOPOLE KIT, 10' 8" FACE, (12) 126" ANTENNA PIPES SFG2CPK3 MCG2CHK3 MCG23HD10M12126SB 2432.1 LBS
MCG2C-10M-15-96 TRIPLE SECTOR FRAME MONOPOLE KIT, 10' 8" FACE, (15) 96" ANTENNA PIPES SFG2CPK3 MCG2CHK3 SFG2CSB3 2484.6 LBS
MCG2C-10M-15-126 TRIPLE SECTOR FRAME MONOPOLE KIT, 10' 8" FACE, (15) 126" ANTENNA PIPES SFG2CPK3 MCG2CHK3 MCG2C10M15126PB 2382.9 LBS

MCG2C-12-B SINGLE SECTOR FRAME MONOPOLE KIT, 12' 8" FACE, NO ANTENNA HARDWARE SFG2CPK MCG2CHKB SFG2CPB 1003.8 LBS
MCG2C-12-B3 TRIPLE SECTOR FRAME MONOPOLE KIT, 12' 8" FACE, NO ANTENNA HARDWARE SFG2CPK3 MCG2CHKB3 SFG2CPB3 1982.5 LBS

MCG2C-12M-12-96 TRIPLE SECTOR FRAME MONOPOLE KIT, 12' 8" FACE, (12) 96" ANTENNA PIPES SFG2CPK3 MCG2CHK3 MCG23HD12M1296SB 2484.6 LBS

MCG2C-12M-12-126 TRIPLE SECTOR FRAME MONOPOLE KIT, 12' 8" FACE, (12) 126" ANTENNA PIPES SFG2CPK3 MCG2CHK3 MCG23HD12M12126SB 2501.2 LBS
MCG2C-12M-15-96 TRIPLE SECTOR FRAME MONOPOLE KIT, 12' 8" FACE, (15) 96" ANTENNA PIPES SFG2CPK3 MCG2CHK3 SFG2CSB3 2484.6 LBS
MCG2C-12M-15-126 TRIPLE SECTOR FRAME MONOPOLE KIT, 12' 8" FACE, (15) 126" ANTENNA PIPES SFG2CPK3 MCG2CHK3 MCG2C12M15126PB 2426.5 LBS

THREE SECTOR KIT SHOWN

F
MCG2C Series

MCG2C Series

F

H
A

N
D

B
O

O
K

,T
E

C
H

N
IC

A
L 

D
R

A
W

IN
G

S
,

C

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

lbs/in³

lbs

in³

in²

±

---

1 OF 6WIDTH

LENGTH

HEIGHT

6010.20VOLUME RE

AD

RV

RW

COMMSCOPE, INC. OF NORTH CAROLINA

07/03/16

07/03/16DRR

8000015465

 
DENSITY

MASS

0.12
V

O
LU

M
E

S
 1

 &
 2

, T
H

IR
D

 E
D

IT
IO

N
 (

20
02

)

CE

WORK AREA

ECN

DRAWING
SHEET

MODEL

SCALE

SIZE

ANGLES

X ±

.X ±

.XX ±

MATERIAL

C

2 PLACE

1 PLACE

0 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:16

FINISH

TP
SURFACE AREA

TITLENAME DATE

SAP MATERIAL MASTER

2015 CommScope, Inc. Confidential

GALV A123 A36, A500

MCG2C SERIES DRAWING

.25

.12
.06

U
N

LE
S

S
 O

T
H

E
R

W
IS

E
 S

P
E

C
IF

IE
D

D
IM

E
N

S
IO

N
S

 A
R

E
 IN

 M
IL

LI
M

E
T

E
R

S
IN

T
E

R
P

R
E

T
 P

E
R

 IS
O

 S
T

A
N

D
A

R
D

S

2



111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

2 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

MCG2C SERIES DRAWING

DRAWING
SHEET

SCALESIZE

C

REVISIONSTATUSVERSION

DOCUMENT NO.

1:20

TITLE

C 2015 CommScope, Inc. Confidential F

MCG2C Series

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.

1 RM1550301 15"-50" 3 SECTOR RM WLDMNT 6 66.12 LBS

2 MT38440 3/4" X 40" GALV THREADED ROD GRADE B7 12 4.98 LBS

3 GWL-06 3/4" GALV LOCK WASHER 24 0.04 LBS

4 GN-06 3/4" GALV HEX NUT 24 0.15 LBS

5 GUB-4240 1/2" X 2-1/2" X 4" GALV U-BOLT 16 0.56 LBS

6 XA2020.01 CROSS OVER ANGLE 6 2.65 LBS

7 OS15034 3/4" X 1-1/2" OFFSET COLLAR 2 0.14 LBS

8 SAB01 FORMED CLAMP 4 1.35 LBS

9 MT-379-8 1/2" X 8" GALV THREADED ROD 4 0.44 LBS

10 GWL-04 1/2" GALV LOCK WASHER 8 0.01 LBS

11 GN-04 1/2" GALV HEX NUT 8 0.04 LBS

12 GWF-04 1/2" GALV FLAT WASHER 8 0.03 LBS

13 GUB-5456 5/8" X 4-5/8" X 6½" GALV U-BOLT 4 1.42 LBS

14 XAU01 Angle  BRK 20 3.28 LBS

15 GUB-4352 1/2" X 3" X 5-1/4" GALV U-BOLT 18 0.71 LBS

16 GB-05225 5/8" X 2-1/4" GALV BOLT KIT 4 0.28 LBS

17 GB-04125 1/2" X 1-1/4" GALV BOLT KIT 2 0.12 LBS

18 GB-04265 1/2" X 2-3/4" GALV BOLT KIT 2 0.20 LBS

34

SCALE 1 : 10
DETAIL A

1

13

2

13

A



1.0  ALL METRIC DIMENSIONS ARE IN BRACKETS.

15.63 397.0

15.63 397.0

20

20

1010

ALLOWABLE TIEBACK ANGLE

*SOME ITEMS OMITTED FOR CLARITY*

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

3 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

MCG2C SERIES DRAWING

DRAWING
SHEET

SCALESIZE

C

REVISIONSTATUSVERSION

DOCUMENT NO.

1:20

TITLE

C 2015 CommScope, Inc. Confidential F

MCG2C Series

B

126.00 3200.4

*DIAGONALS MUST BE INSTALLED AS SHOWN*

36 91838 959.8

2526

SCALE 1 : 8
DETAIL B

29

13

19

23

20

21

22

24

27



111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

4 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

MCG2B SERIES DRAWING

DRAWING
SHEET

SCALESIZE

C

REVISIONSTATUSVERSION

DOCUMENT NO.

1:14

TITLE

C 2015 CommScope, Inc. Confidential F

MCG2C Series

STEP 1: LOOSEN 5/8 HARDWARE TO OPEN FRAME SUPPORT ARMS. STEP 2: OPEN FRAME SUPPORT ARMS AND INSTALL 
(4) 5/8 X 2-1/4" BOLTS.

*DO NOT TIGHTEN 5/8" BOLTS AT THIS TIME.

STEP 3: INSTALL FACE PIPES AND 1/2" U-BOLTS
*TIGHTEN U-BOLTS FIRST AND 5/8" BOLTS SECOND*

STEP 4: ASSEMBLE FRAME(S) TO RINGMOUNT

5/8X2-1/2" BOLTS

FRAME SUPPORT ARM

FRAME SUPPORT ARM

*DIAGONALS MUST BE
INSTALLED AS SHOWN*

5/8X2-1/2" BOLTS
*TIGHTEN SECOND*

12' FACE PIPE

1/2" U-BOLT
(8) PLACES
*TIGHTEN FIRST*

*DIAGONALS MUST BE
INSTALLED AS SHOWN*

FRAME SUPPORT ARM

FRAME SUPPORT ARM

5/8X2-1/2" BOLTS

*DIAGONALS MUST BE
INSTALLED AS SHOWN*

RM1550311

5/8" U-BOLT
TWO PLACES

5/8" U-BOLT
TWO PLACES

*DIAGONALS MUST BE
INSTALLED AS SHOWN*



FITS MONOPOLES
50
15

1270.00
381.00

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.

1 RM1550301 15"-50" 3 SECTOR RM WLDMNT 6 66.12 LBS

2 MT38440 3/4" X 40" GALV THREADED ROD GRADE B7 12 4.98 LBS

3 GWL-06 3/4" GALV LOCK WASHER 24 0.04 LBS

4 GN-06 3/4" GALV HEX NUT 24 0.15 LBS

10 SFG2367L SECTOR FRAME ARM LEFT WELDMENT 1 81.38 LBS

11 SFG2367R SECTOR FRAME ARM RIGHT WELDMENT 1 81.38 LBS

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

5 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

MCG2C SERIES DRAWING

DRAWING
SHEET

SCALESIZE

C

REVISIONSTATUSVERSION

DOCUMENT NO.

1:8

TITLE

C 2015 CommScope, Inc. Confidential F

MCG2C Series

SCALE 1 : 2
DETAIL C

2

4

1

3

2

1

RINGMOUNT SECTOR CENTERLINE
MUST VERTICALLY ALIGN TO ALLOW
SECTOR FRAME SPINE PROPER MOUNTING

C



111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

6 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

MCG2C SERIES DRAWING

MCG2C SERIES

DRAWING
SHEET

SCALESIZE

C

REVISIONSTATUSVERSION

DOCUMENT NO.

1:14

TITLE

C 2015 CommScope, Inc. Confidential F

*DIAGONALS MUST BE INSTALLED AS SHOWN*

10

20

20

10

ALLOWABLE TIEBACK ANGLE
20 DEGREES VERTICAL

10 DEGREES HORIZONTAL

TIEBACK MUST BE CONNECTED TO A RIGID MEMBER THAT
PROVIDES ADEQUATE SUPPORT WITHIN THE LIMITS NOTED
IN THE TIEBACK ANGLE RANGE DETAIL, UNLESS APPROVED
BY THE ENGINEER OF RECORD.




